
LEGEND

Trina Module Purlins
(Use No Color NS Beam, Connector Rail and Braces)

2 Span Purlin (No Color)
QTY 2970 ; Length 13'- 43

8"

3 Span Purlin (Notched) (Dark Blue)
QTY 390 ; Length 20'- 4 9

16"

4 Span Purlin (Notched) (Purple)
QTY 845 ; Length 27'-03

4"

4 Span Purlin (Notched) (3 Post) (Red)
QTY 550 ; Length 27'-03

4"

5 Span Purlin (Notched) (Dark Green)
QTY 1460 ; Length 33'-815

16"

Risen Module Purlins
(Use Red NS Beam, Connector Rail and Braces)

2 Span Purlin (Pink)
QTY 675 ; Length 13'-33

4"

3 Span Purlin (Notched) (Orange)
QTY 450 ; Length 20'-35

8"

4 Span Purlin (Notched) (3 Post) (Brown)
QTY 230 ; Length 26'-111

2"

5 Span Purlin (Notched) (Light Blue)
QTY 115 ; Length 33'-73

8"

100ft0 200ft 400ft

28'-73
8" Front Row to Row Spacing

16'-711
16" Post to Post O.C.

Brown - Pink - Orange16'-711
16" Post to Post O.C.

Orange - Pink - Orange

19'-115
8" Post to Post O.C.

L.Blue - Pink - Orange
23'-3 9

16" Post to Post O.C.
L.Blue - Pink - L.Blue

19'-115
8" Post to Post O.C.

L.Blue - Pink - Brown

16'-711
16" Post to Post O.C.

Brown - Pink - Brown
11'-73

4" Post to Post O.C.
Brown - Brown

16'-711
16" Post to Post O.C.
Orange - Orange 23'-3 9

16" Post to Post O.C.
L.Blue - L.Blue

16'-8 7
16" Post to Post O.C.

D.Blue - No Color - Red

18'-41
2" Post to Post O.C.

Purple - No Color - Red
20'-0 9

16" Post to Post O.C.
Red - No Color - D.Green

20'-0 9
16" Post to Post O.C.

D.Green - No Color - D.Blue

21'-8 9
16" Post to Post O.C.

D.Green - No Color - Purple

23'-45
8" Post to Post O.C.

D.Green - No Color - D.Green

20'-0 9
16" Post to Post O.C.

Purple - No Color - Purple

16'-81
2" Post to Post O.C.
D.Blue - D. Blue

20'-0 9
16" Post to Post O.C.
Purple - Purple

23'-411
16" Post to Post O.C.

D.Green - D.Green

11'-8 5
16" Post to Post O.C.

Red - Red

   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
 ----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

Site
Plan

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

Design Information
Risk Category I Area of Array 24.06 acres Seismic Site Class D

Wind Exposure Category C No. of rows 74 Ss/S1 0.177 g / 0.064 g

Design Wind Load 115 mph per ASCE7-10 Distance to Saltwater >25 miles Project Design Life 25 years

Design Snow Load 35 psf Dead Load 3.7 psf Applicable Building Code 2018 Connecticut State Building
Code

The layout shown herein is based on site layout geometry provided to

GameChange Solar by the customer.

Any changes to the site that may affect the solar PV arrays depicted herein

shall be notified to GameChange Solar.

The layouts and details shown herein are a custom design for this project

and are specific to the PV module(s) shown in the Array Information table.

GameChange Solar cannot be responsible for errors during installation

caused by changes that impact the layout as shown

Install foundations at specified distances along slope line, Not by plane

view. See Detail Sheets for additional info

GENERAL  NOTES    Sheet #:

of 16 01

S100

sv
CT PE



Posts
TYPE Size Color Quanity Minimum

Embedment

W6x7 No Color 1066 7'-0"

W6x9 Red 706 7'-0"

100ft0 200ft 400ft

28'-73
8" Front Row to Row Spacing

   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
 ----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

Post
Plan

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

Design Information
Risk Category I Area of Array 24.06 acres Seismic Site Class D

Wind Exposure Category C No. of rows 74 Ss/S1 0.177 g / 0.064 g

Design Wind Load 115 mph per ASCE7-10 Distance to Saltwater >25 miles Project Design Life 25 years

Design Snow Load 35 psf Dead Load 3.7 psf Applicable Building Code 2018 Connecticut State Building
Code

The layout shown herein is based on site layout geometry provided to

GameChange Solar by the customer.

Any changes to the site that may affect the solar PV arrays depicted herein

shall be notified to GameChange Solar.

The layouts and details shown herein are a custom design for this project

and are specific to the PV module(s) shown in the Array Information table.

GameChange Solar cannot be responsible for errors during installation

caused by changes that impact the layout as shown

Install foundations at specified distances along slope line, Not by plane

view. See Detail Sheets for additional info

GENERAL  NOTES    Sheet #:

of 16 02

S200

sv
CT PE



Trina Module Purlins
Purlin Angle Key

Note:
-The following Purlin Angles (GC874), Connector Rail
(GC903TWT) will be used in these locations.
-All other locations do not require Purlin Angles (GC874),
Connector Rail (GC903TWT)
GC874A No Color
Count: 1098

GC874B Red
 Count: 1168

Risen Module Purlins
Purlin Angle Key

Note:
-The following Purlin Angles (GC874), Connector Rail
(GC903TWT) will be used in these locations.
-All other locations do not require Purlin Angles (GC874),
Connector Rail (GC903TWT)
GC874A Dark Green
Count: 404

GC874B Pink
 Count: 92

100ft0 200ft 400ft

28'-73
8" Front Row to Row Spacing

   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
 ----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

GC874
Plan

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

Design Information
Risk Category I Area of Array 24.06 acres Seismic Site Class D

Wind Exposure Category C No. of rows 74 Ss/S1 0.177 g / 0.064 g

Design Wind Load 115 mph per ASCE7-10 Distance to Saltwater >25 miles Project Design Life 25 years

Design Snow Load 35 psf Dead Load 3.7 psf Applicable Building Code 2018 Connecticut State Building
Code

The layout shown herein is based on site layout geometry provided to

GameChange Solar by the customer.

Any changes to the site that may affect the solar PV arrays depicted herein

shall be notified to GameChange Solar.

The layouts and details shown herein are a custom design for this project

and are specific to the PV module(s) shown in the Array Information table.

GameChange Solar cannot be responsible for errors during installation

caused by changes that impact the layout as shown

Install foundations at specified distances along slope line, Not by plane

view. See Detail Sheets for additional info

GENERAL  NOTES    Sheet #:

of 16 03

S300

sv
CT PE



23'-45
8"

6'-75
8"

1
2" TYP.

33'-9"

Trina Module
(Use No Color NS Beam, Connector Rail
and Braces)

   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
 ----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

Trina
Assembly

South View

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

Design Information
Risk Category I Area of Array 24.06 acres Seismic Site Class D

Wind Exposure Category C No. of rows 74 Ss/S1 0.177 g / 0.064 g

Design Wind Load 115 mph per ASCE7-10 Distance to Saltwater >25 miles Project Design Life 25 years

Design Snow Load 35 psf Dead Load 3.7 psf Applicable Building Code 2018 Connecticut State Building
Code

The layout shown herein is based on site layout geometry provided to

GameChange Solar by the customer.

Any changes to the site that may affect the solar PV arrays depicted herein

shall be notified to GameChange Solar.

The layouts and details shown herein are a custom design for this project

and are specific to the PV module(s) shown in the Array Information table.

GameChange Solar cannot be responsible for errors during installation

caused by changes that impact the layout as shown

Install foundations at specified distances along slope line, Not by plane

view. See Detail Sheets for additional info

GENERAL  NOTES    Sheet #:

of 16 04

S400

sv
CT PE



(3'-31
2")

2'-05
8"

4'-01
2"

2'-63
4"

4'-11"

1'-10"

2'-4"

3'-31
2"

3'-31
2"1

2" TYP.

13'-31
4"

30.00° ±1°

10'-17
8"

5'-07
8" Min

Post Stickup

4'-35
8"

13'-67
8"

3' Min
Ground

Clearance

7' Min Post
Embedment Depth

61
4" Post

Adjustment Zone

4'-21
2" 8'-7"

3'-31
2"

3'-31
2"

Trina Module
(Use No Color NS Beam, Connector Rail
and Braces)

   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
 ----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

Trina
Assembly
East View

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

Design Information
Risk Category I Area of Array 24.06 acres Seismic Site Class D

Wind Exposure Category C No. of rows 74 Ss/S1 0.177 g / 0.064 g

Design Wind Load 115 mph per ASCE7-10 Distance to Saltwater >25 miles Project Design Life 25 years

Design Snow Load 35 psf Dead Load 3.7 psf Applicable Building Code 2018 Connecticut State Building
Code

The layout shown herein is based on site layout geometry provided to

GameChange Solar by the customer.

Any changes to the site that may affect the solar PV arrays depicted herein

shall be notified to GameChange Solar.

The layouts and details shown herein are a custom design for this project

and are specific to the PV module(s) shown in the Array Information table.

GameChange Solar cannot be responsible for errors during installation

caused by changes that impact the layout as shown

Install foundations at specified distances along slope line, Not by plane

view. See Detail Sheets for additional info

GENERAL  NOTES    Sheet #:

of 16 05

S401

sv
CT PE



Risen Module
(Use Red NS Beam, Connector Rail

   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
 ----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

Risen
Assembly

South View

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

Design Information
Risk Category I Area of Array 24.06 acres Seismic Site Class D

Wind Exposure Category C No. of rows 74 Ss/S1 0.177 g / 0.064 g

Design Wind Load 115 mph per ASCE7-10 Distance to Saltwater >25 miles Project Design Life 25 years

Design Snow Load 35 psf Dead Load 3.7 psf Applicable Building Code 2018 Connecticut State Building
Code

The layout shown herein is based on site layout geometry provided to

GameChange Solar by the customer.

Any changes to the site that may affect the solar PV arrays depicted herein

shall be notified to GameChange Solar.

The layouts and details shown herein are a custom design for this project

and are specific to the PV module(s) shown in the Array Information table.

GameChange Solar cannot be responsible for errors during installation

caused by changes that impact the layout as shown

Install foundations at specified distances along slope line, Not by plane

view. See Detail Sheets for additional info

GENERAL  NOTES    Sheet #:

of 16 06

S402

sv
CT PE



Risen Module
(Use Red NS Beam, Connector Rail
and Braces)

   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
 ----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

Trina
Assembly
East View

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

Design Information
Risk Category I Area of Array 24.06 acres Seismic Site Class D

Wind Exposure Category C No. of rows 74 Ss/S1 0.177 g / 0.064 g

Design Wind Load 115 mph per ASCE7-10 Distance to Saltwater >25 miles Project Design Life 25 years

Design Snow Load 35 psf Dead Load 3.7 psf Applicable Building Code 2018 Connecticut State Building
Code

The layout shown herein is based on site layout geometry provided to

GameChange Solar by the customer.

Any changes to the site that may affect the solar PV arrays depicted herein

shall be notified to GameChange Solar.

The layouts and details shown herein are a custom design for this project

and are specific to the PV module(s) shown in the Array Information table.

GameChange Solar cannot be responsible for errors during installation

caused by changes that impact the layout as shown

Install foundations at specified distances along slope line, Not by plane

view. See Detail Sheets for additional info

GENERAL  NOTES    Sheet #:

of 16 07

S403

sv
CT PE



   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
 ----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

Module
Spec Sheet

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

Design Information
Risk Category I Area of Array 24.06 acres Seismic Site Class D

Wind Exposure Category C No. of rows 74 Ss/S1 0.177 g / 0.064 g

Design Wind Load 115 mph per ASCE7-10 Distance to Saltwater >25 miles Project Design Life 25 years

Design Snow Load 35 psf Dead Load 3.7 psf Applicable Building Code 2018 Connecticut State Building
Code

The layout shown herein is based on site layout geometry provided to

GameChange Solar by the customer.

Any changes to the site that may affect the solar PV arrays depicted herein

shall be notified to GameChange Solar.

The layouts and details shown herein are a custom design for this project

and are specific to the PV module(s) shown in the Array Information table.

GameChange Solar cannot be responsible for errors during installation

caused by changes that impact the layout as shown

Install foundations at specified distances along slope line, Not by plane

view. See Detail Sheets for additional info

GENERAL  NOTES    Sheet #:

of 16 08

S410

Equipment by Others

sv
CT PE



   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
 ----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

Module
Spec Sheet

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

Design Information
Risk Category I Area of Array 24.06 acres Seismic Site Class D

Wind Exposure Category C No. of rows 74 Ss/S1 0.177 g / 0.064 g

Design Wind Load 115 mph per ASCE7-10 Distance to Saltwater >25 miles Project Design Life 25 years

Design Snow Load 35 psf Dead Load 3.7 psf Applicable Building Code 2018 Connecticut State Building
Code

The layout shown herein is based on site layout geometry provided to

GameChange Solar by the customer.

Any changes to the site that may affect the solar PV arrays depicted herein

shall be notified to GameChange Solar.

The layouts and details shown herein are a custom design for this project

and are specific to the PV module(s) shown in the Array Information table.

GameChange Solar cannot be responsible for errors during installation

caused by changes that impact the layout as shown

Install foundations at specified distances along slope line, Not by plane

view. See Detail Sheets for additional info

GENERAL  NOTES    Sheet #:

of 16 09

S411

Equipment by Others

sv
CT PE



1717

13d13d

   Customer:

Verogy

   Project:

 East Windsor

   Location:

341 East Rd, East Windsor, CT 06016

   Project #:

 ----

  Rev:   By:   Date:   Description:

  1

  2

  3

  HD

  GF

  SVP

  

  03-09-2021

  03-23-2021

  05-14-2021

  Original Layout

  Updated Assembly

  IFP

PARTS LIST

Item No. Description Part No. Material

1

 Post (I- Beam)

GC461-W6 Galvanized Steel HDG

2a Post Bracket GC261B-F Galvanized Steel G90

2b Post Extender GC261B-F-35 Galvanized Steel G90

3 Base Bracket GC468R Galvanized Steel G90

4 NS Beam GC462LS Galvanized Steel G90

5a South Brace GC464-S Galvanized Steel G90

5b North Brace GC464-N Galvanized Steel G90

6 EW Purlin GC63/GC63N Galvanized Steel G90

7 Connector Rail GC903TWT-C Galvanized Steel G90

8

Purlin Support

GC879 Galvanized Steel G90

9

Purlin Angle GC874 Galvanized Steel G90

10

Purlin Brace GC127 Galvanized Steel G90

11a

1/2-13 Serrated Flange Bolts

/ Hex Bolts

Magnicoat

11b 1/2" Washer HDG

11c

1/2-13 Serrated Flange Nuts Magnicoat

11d Beam Plate Washer GC128T Galvanized Steel G90

12a

3/8-16 Serrated Flange Bolts /

Hex Bolts

Magnicoat

12b

3/8" - 16 Super Flange Hex Nut

HDG

12c

3/8-16 Serrated Flange Nuts Magnicoat

12d

3/8 -16 1" Superflange Hex Bolts Magnicoat

13a 1/4-20 Serrated Hex Bolts

Magnicoat

13b 1/4" Washer Not Used

Magnicoat

13c

1/4-20 Serrated Flange Nuts Magnicoat

13d 1/4-20 2-1/2" Hex bolt

Magnicoat

13e

1/4-20 Button Head Cap Bolt Magnicoat

13f

LockClamp T-Bolt

GC1307A

14

Rubber O Ring

15

Mid Clip Assembly

GC1307AM Stainless Steel

GC Max-Span System

· Use only GameChange parts. Use of other parts to complete the installation as substitutes may void

the warranty.

· Make sure the site ground can support the loading resulting from the GC MaxSpan Plus Ground

System and provided PV modules.

· Comply with all relevant local, state and national safety laws and standards for both for mechanical and

electrical aspects of the solar PV array installation.

· When encountering undocumented or unexpected obstacles requiring a work around, work arounds

should be brought to the attention of GameChange personnel prior to being attempted. If approved by

GameChange, work arounds shall be noted on project as-built drawings. Work arounds should be

completed in a manner that ensures that the remainder of the array is not affected.

· GC MaxSpan Plus Ground System is to be installed in a clear area free of shading with a suggested 10

ft border surrounding array.

· Reference Install Manual for installation. Not following install manual may result in voiding warranty.

· Install the array facing due south (+/- 1 degree) unless otherwise noted on the layout drawings in this

drawing set or on project electrical drawings.

Preventative Maintenance

· It is best practice to unbundle loads and install parts within several weeks of delivery so air is able to

flow around parts and thus prevent white rust formation. In order to maintain the longest life possible

for the protective zinc coating under the warranty, it is important to monitor for any severe white rust

developments prior to installation and if this condition appears to take proper maintenance steps to

remediate it.  See the Installation Manual for more information.

· After Installation, owner must annually monitor for any surface rust that may occur over time. Identify

any rust areas, wire brush area to remove rust, and coat with 80% zinc rich paint, or equivalent field life

paint. This step is not required if rust is limited to edges which were cut during fabrication.

· If panel mounting clips are used to install modules, clips must be checked annually and after storms

with severe winds to make sure their installation and torque settings remain correct.

· Annual inspection must be done for mechanical movement due to any reason including thermal

expansion and contraction. Any mechanical movement must be rectified.

· Torque settings must be checked for all hardware.

· All Clips must be checked to make sure there is no gap between side of Clip and module.

· See Installation Manual for additional details on preventative maintenance.

· Proper preventative maintenance must be conducted or warranty may be voided.

Tool Required

· String Line

· 30 ft Tape Measure

· Inclinometer or level with digital degree read out

· Impact Drill with interchangeable drivers

· Wrenches and driver sockets, both standard and deep, in the following sizes:

o  7/16 inch (for 1/4-inch hex bolts and nuts),

o  9/16 inch (for 3/8-inch hex bolts and nuts),

o  3/4 inch (for 1/2-inch hex bolts and nuts)

· Torque Wrench.  Torque bolts to appropriate torque range:

        1/4" hardware (stainless) = 6 - 7 ft-lbs (72 - 84 in-lbs) 

        1/4" hardware (magni) = 9 - 10 ft-lbs (108 - 120 in-lbs)

3/8" hardware = 29 - 31 ft-lbs

1/2" hardware = 95 - 100 ft-lbs

            1/2"-13 8" Bolts / 9" Rods = 110-115 ft-lbs

· 3M Scotchrap Tape 50: All-Weather Corrosion Protection Tape, black, 4" wide

· Rags, Nylon Roller, Utility Knife, Garbage Bags

Proper installation shall result in top of post to top of

post distances matching that on layout. In order to

achieve this, two factors must be considered and

properly compensated for. Sloping Ground (ground

slopes over 3%) will result in distance between posts

growing as compared to the required distance. Thus,

the measurement shall be taken along the slope of the

table and place rooster tails (pile driving flags) at proper

distance along that slope, NOT AT PLAN VIEW

LOCATIONS.

1)    Install first Post (I-Beam) to the proper embedment

depth, with the openings facing East-West, and

bottom attachment slots to the South on the west

side, and plumb to within +/- 1 degree. Make sure

the tops of the next Posts are installed at specified

distances from the top of the previous (East-West +/-

1- 1/2", North-South +/-1/2")

The racking system allows for +/-2" but this will make

more adjustment of purlins necessary and slow down

installation.

· Make sure tops of Posts are leveled to be

at a consistent height or slope depending

on the topography of the land.

· Note that embedment depth will vary to

handle rolling ground variations.

Gamechange provides piles with

additional length enabling an adjustment

range typically of 4" to 6". Be careful to

always meet minimum embedment depth

and ground clearance requirement.

· Make sure Posts are squared to within +/-

2 degrees to the azimuth of the array

· Make sure Posts are plumb +/- 1 deg so

long as:

East

1

GC Max-Span™

I-Beam Ground

System

4 Up Poly

Slots to Attach

Base Bracket

on South Face

on  the West

side

Array Information

PV Modules

Racking

Manufacturer

1.Trina Solar

2.Risen

Gamechange Solar

Model

1.TSM-DEG15MC.20(II)

2.RSM144-6-380BMDG

30-Deg MaxSpan

I-Beam

Dimensions

1. 79.69" x 39.45" x 1.18"

2. 79.37" x 39.29" x 0.98"

Weight

1. 57.3 lbs

2. 57.3 lbs

Quantity

1. 15992

2. 3356

Posts: 1772

Ground

Clearance

36"

15992 modules at 395 W

3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019

Tel:212-388-5160

www.gamechangesolar.com

Bottom

Slots

10

8

- Not more than +/- 1 1/2 inches on east to west direction at top of post (from the proper post

location marked on ground).

- Not more than +/- 1/2 inch north to south direction at top of post (from the proper post location

marked on ground)

· Make sure defined distance between foundations is measured from center of post to center of

next post along the ground (not from plan view). Otherwise foundation locations will creep if there

is rolling terrain since plan view does not factor in dimensions differences caused by terrain. This

could make purlin attachment more difficult.

3

17

· Do not use vibratory pile drivers

13d10

8

3

17

13d

1

10

8

3

17

13d

1

9

10

8

5b

3

17

13d

1

10

8

3

17

13d10

8

3

17

13d

1

10

8

3

17

13d

3

10

8

3

17

7b

13d

1

10

8

3

17

13d10

8

3

17

13d

1

10

8

3

17

13d10

8

3

17

2

13d

1

10

8

3

17

13d10

8

3

17

13d

1

10

8

3

17

13d

6

4

7a

10

8

3

17

13d10

8

3

17

13d10

8

3

17

13d10

8

3

17

13d

1

5a

9

10

8

5b

3

17

13d10

8

3

17

13d10

8

3

17

13d10

8

3

17

13d

3

10

8

3

17

13d10

8

3

17

13d10

8

3

17

13d10

8

3

17

13d10

8

3

17

2

13d10

8

3

17

13d10

8

3

17

13d10

8

3

17

13d

6

4

7a

10

8

3

17

13d10

8

3

17

13d10

8

3

17

13d10

8

3

17

13d

1

9

10

8

5b

3

17

13d10

8

3

17

13d10

8

3

17

13d10

8

3

17

13d

3

10

8

3

17

7b

13d10

8

3

17

13d10

8

3

17

13d10

8

3

17

13d10

8

3

17

2

13d10

8

3

17

13d10

8

3

17

13d10

8

3

17

13d

6

4

10

8

3

17

13d10

8

3

17

10

8

3

17

10

8

3

17

1

5a

9

10

8

5b

3

17

10

8

3

17

10

8

3

17

10

8

3

17

3

10

8

3

17

10

8

3

17

10

8

3

17

10

8

3

17

10

8

3

17

2

10

8

3

17

10

8

3

10

8

3

6

4

7

10

8

3

11d

Embedment Depth

   Sheet #:

of 16 10

S500

15

Embedment Depth

sv
CT PE



   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

PARTS LIST
Item No. Description Part No. Material

1  Post (I- Beam) GC461-W6 Galvanized Steel HDG
2a Post Bracket GC261B-F Galvanized Steel G90
2b Post Extender GC261B-F-35 Galvanized Steel G90
3 Base Bracket GC468R Galvanized Steel G90
4 NS Beam GC462LS Galvanized Steel G90

5a South Brace GC464-S Galvanized Steel G90
5b North Brace GC464-N Galvanized Steel G90
6 EW Purlin GC63/GC63N Galvanized Steel G90
7 Connector Rail GC903TWT-C Galvanized Steel G90
8 Purlin Support GC879 Galvanized Steel G90
9 Purlin Angle GC874 Galvanized Steel G90

10 Purlin Brace GC127 Galvanized Steel G90

11a 1/2-13 Serrated Flange Bolts
/ Hex Bolts

Magnicoat

11b 1/2" Washer HDG
11c 1/2-13 Serrated Flange Nuts Magnicoat
11d Beam Plate Washer GC128T Galvanized Steel G90

12a 3/8-16 Serrated Flange Bolts /
Hex Bolts

Magnicoat

12b 3/8" - 16 Super Flange Hex Nut HDG
12c 3/8-16 Serrated Flange Nuts Magnicoat
12d 3/8 -16 1" Superflange Hex Bolts Magnicoat
13a 1/4-20 Serrated Hex Bolts Magnicoat
13b 1/4" Washer Not Used Magnicoat
13c 1/4-20 Serrated Flange Nuts Magnicoat
13d 1/4-20 2-1/2" Hex bolt Magnicoat
13e 1/4-20 Button Head Cap Bolt Magnicoat
13f LockClamp T-Bolt GC1307A
14 Rubber O Ring
15 Mid Clip Assembly GC1307AM Stainless Steel

GC Max-Span System
Use only GameChange parts. Use of other parts to complete the installation as substitutes may void
the warranty.
Make sure the site ground can support the loading resulting from the GC MaxSpan Plus Ground
System and provided PV modules.
Comply with all relevant local, state and national safety laws and standards for both for mechanical and
electrical aspects of the solar PV array installation.
When encountering undocumented or unexpected obstacles requiring a work around, work arounds
should be brought to the attention of GameChange personnel prior to being attempted. If approved by
GameChange, work arounds shall be noted on project as-built drawings. Work arounds should be
completed in a manner that ensures that the remainder of the array is not affected.
GC MaxSpan Plus Ground System is to be installed in a clear area free of shading with a suggested 10
ft border surrounding array.
Reference Install Manual for installation. Not following install manual may result in voiding warranty.
Install the array facing due south (+/- 1 degree) unless otherwise noted on the layout drawings in this
drawing set or on project electrical drawings.

Preventative Maintenance
It is best practice to unbundle loads and install parts within several weeks of delivery so air is able to
flow around parts and thus prevent white rust formation. In order to maintain the longest life possible
for the protective zinc coating under the warranty, it is important to monitor for any severe white rust
developments prior to installation and if this condition appears to take proper maintenance steps to
remediate it.  See the Installation Manual for more information.
After Installation, owner must annually monitor for any surface rust that may occur over time. Identify
any rust areas, wire brush area to remove rust, and coat with 80% zinc rich paint, or equivalent field life
paint. This step is not required if rust is limited to edges which were cut during fabrication.
If panel mounting clips are used to install modules, clips must be checked annually and after storms
with severe winds to make sure their installation and torque settings remain correct.
Annual inspection must be done for mechanical movement due to any reason including thermal
expansion and contraction. Any mechanical movement must be rectified.
Torque settings must be checked for all hardware.
All Clips must be checked to make sure there is no gap between side of Clip and module.
See Installation Manual for additional details on preventative maintenance.
Proper preventative maintenance must be conducted or warranty may be voided.

Tool Required
String Line
30 ft Tape Measure
Inclinometer or level with digital degree read out
Impact Drill with interchangeable drivers
Wrenches and driver sockets, both standard and deep, in the following sizes:

o  7/16 inch (for 1/4-inch hex bolts and nuts),
o  9/16 inch (for 3/8-inch hex bolts and nuts),
o  3/4 inch (for 1/2-inch hex bolts and nuts)

Torque Wrench.  Torque bolts to appropriate torque range:
        1/4" hardware (stainless) = 6 - 7 ft-lbs (72 - 84 in-lbs) 
        1/4" hardware (magni) = 9 - 10 ft-lbs (108 - 120 in-lbs)

3/8" hardware = 29 - 31 ft-lbs
1/2" hardware = 95 - 100 ft-lbs

            1/2"-13 8" Bolts / 9" Rods = 110-115 ft-lbs
3M Scotchrap Tape 50: All-Weather Corrosion Protection Tape, black, 4" wide
Rags, Nylon Roller, Utility Knife, Garbage Bags

4) Attach Brace Bracket to Post at specified distance as per assembly drawing in Permit/Layout
drawing set below the Post Bracket, using two bolts outside bracket and flange nuts and Post
Bracket washer inside post.

7) Align 1/2-inch width slots on South
Brace to 1/2-inch width slots on Base
Bracket, attach using two 1/2-inch
bolts and Post Bracket Washer on
Bracket side and serrated flange nuts
on South Brace side. Leave hand
tight to allow for adjustment in later
steps. It is critical that the Post
Bracket Washer sits flush on base
bracket and it does not ride up on the
chamfer on the rib.

5a

3

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

1
3

4

1

2

3) The highest point the Post Bracket may be installed is
the top end of the top slot to the third hole from the
bottom. Post Bracket MAY NOT be extended such that
the top end of the top slot attaches to the bottom hole.

GC Max-Span™
I-Beam Ground

System
4 Up Poly

2) Place Post Bracket on top of Post such that the open side of the
Post Bracket faces East. Attach Post Bracket to Post using four
1/2-inch bolts inside Post Bracket and serrated flange nuts on
Post side. Leave hand tight to allow for adjustment in later steps.

Lowest Highest

2a

13a1 1

13c

2a

13c

13a

East

8) Align 1/2-inch slots on Brace to 1/2-inch slots on NS Beam. Make sure to review assembly print
for specific job and attach to hole that results in tilt as required for installation. Attach Brace to
NS Beam using two 1/2-inch bolts / washers and Beam Plate Washer on NS Beam side and
serrated flange nuts on Brace side. Leave hand tight to allow for adjustment in later steps.

4

11a

2b 2b

5) Place NS Beams on top of Post Bracket such that
top flange is pointing east. Align 1/2-inch mounting
slots with 1/2-inch slots on top of Post Bracket.

6) Attach NS Beam to Post Bracket using three
1/2-inch bolts and washers inside Post Bracket
and Beam Plate Washer and serrated flange nuts
on NS Beam side. Leave hand tight to allow for
adjustment in later steps. Drive from bolt side.

5a

3

11b
11a

1
3

4

1

2

2a

13a1 1

13c

2a

13c

13a

5a

11c

11d11a

2b 2b

11c

11b

   Sheet #:

of 16 11

S501

5

11a

11b

sv
CT PE



   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

PARTS LIST
Item No. Description Part No. Material

1  Post (I- Beam) GC461-W6 Galvanized Steel HDG
2a Post Bracket GC261B-F Galvanized Steel G90
2b Post Extender GC261B-F-35 Galvanized Steel G90
3 Base Bracket GC468R Galvanized Steel G90
4 NS Beam GC462LS Galvanized Steel G90

5a South Brace GC464-S Galvanized Steel G90
5b North Brace GC464-N Galvanized Steel G90
6 EW Purlin GC63/GC63N Galvanized Steel G90
7 Connector Rail GC903TWT-C Galvanized Steel G90
8 Purlin Support GC879 Galvanized Steel G90
9 Purlin Angle GC874 Galvanized Steel G90

10 Purlin Brace GC127 Galvanized Steel G90

11a 1/2-13 Serrated Flange Bolts
/ Hex Bolts

Magnicoat

11b 1/2" Washer HDG
11c 1/2-13 Serrated Flange Nuts Magnicoat
11d Beam Plate Washer GC128T Galvanized Steel G90

12a 3/8-16 Serrated Flange Bolts /
Hex Bolts

Magnicoat

12b 3/8" - 16 Super Flange Hex Nut HDG
12c 3/8-16 Serrated Flange Nuts Magnicoat
12d 3/8 -16 1" Superflange Hex Bolts Magnicoat
13a 1/4-20 Serrated Hex Bolts Magnicoat
13b 1/4" Washer Not Used Magnicoat
13c 1/4-20 Serrated Flange Nuts Magnicoat
13d 1/4-20 2-1/2" Hex bolt Magnicoat
13e 1/4-20 Button Head Cap Bolt Magnicoat
13f LockClamp T-Bolt GC1307A
14 Rubber O Ring
15 Mid Clip Assembly GC1307AM Stainless Steel

GC Max-Span System
Use only GameChange parts. Use of other parts to complete the installation as substitutes may void
the warranty.
Make sure the site ground can support the loading resulting from the GC MaxSpan Plus Ground
System and provided PV modules.
Comply with all relevant local, state and national safety laws and standards for both for mechanical and
electrical aspects of the solar PV array installation.
When encountering undocumented or unexpected obstacles requiring a work around, work arounds
should be brought to the attention of GameChange personnel prior to being attempted. If approved by
GameChange, work arounds shall be noted on project as-built drawings. Work arounds should be
completed in a manner that ensures that the remainder of the array is not affected.
GC MaxSpan Plus Ground System is to be installed in a clear area free of shading with a suggested 10
ft border surrounding array.
Reference Install Manual for installation. Not following install manual may result in voiding warranty.
Install the array facing due south (+/- 1 degree) unless otherwise noted on the layout drawings in this
drawing set or on project electrical drawings.

Preventative Maintenance
It is best practice to unbundle loads and install parts within several weeks of delivery so air is able to
flow around parts and thus prevent white rust formation. In order to maintain the longest life possible
for the protective zinc coating under the warranty, it is important to monitor for any severe white rust
developments prior to installation and if this condition appears to take proper maintenance steps to
remediate it.  See the Installation Manual for more information.
After Installation, owner must annually monitor for any surface rust that may occur over time. Identify
any rust areas, wire brush area to remove rust, and coat with 80% zinc rich paint, or equivalent field life
paint. This step is not required if rust is limited to edges which were cut during fabrication.
If panel mounting clips are used to install modules, clips must be checked annually and after storms
with severe winds to make sure their installation and torque settings remain correct.
Annual inspection must be done for mechanical movement due to any reason including thermal
expansion and contraction. Any mechanical movement must be rectified.
Torque settings must be checked for all hardware.
All Clips must be checked to make sure there is no gap between side of Clip and module.
See Installation Manual for additional details on preventative maintenance.
Proper preventative maintenance must be conducted or warranty may be voided.

Tool Required
String Line
30 ft Tape Measure
Inclinometer or level with digital degree read out
Impact Drill with interchangeable drivers
Wrenches and driver sockets, both standard and deep, in the following sizes:

o  7/16 inch (for 1/4-inch hex bolts and nuts),
o  9/16 inch (for 3/8-inch hex bolts and nuts),
o  3/4 inch (for 1/2-inch hex bolts and nuts)

Torque Wrench.  Torque bolts to appropriate torque range:
        1/4" hardware (stainless) = 6 - 7 ft-lbs (72 - 84 in-lbs) 
        1/4" hardware (magni) = 9 - 10 ft-lbs (108 - 120 in-lbs)

3/8" hardware = 29 - 31 ft-lbs
1/2" hardware = 95 - 100 ft-lbs

            1/2"-13 8" Bolts / 9" Rods = 110-115 ft-lbs
3M Scotchrap Tape 50: All-Weather Corrosion Protection Tape, black, 4" wide
Rags, Nylon Roller, Utility Knife, Garbage Bags

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

9) Attach 2nd Brace Bracket to Post at specified distance as per assembly drawing in
Permit/Layout drawing set below the Post Bracket, using two bolts outside bracket and flange
nuts inside post.

4

1

2

5b

10) Align 1/2-inch slots on North Brace to 1/2-inch slots on NS Beam. Make sure to review
assembly print for specific job and attach to hole that results in tilt as required for installation.
Attach North Brace to NS Beam using two 1/2-inch bolts on NS Beam side and serrated flange
nuts on Brace side. Leave hand tight to allow for adjustment in later steps.

11) Repeat for NS Beams and Braces on adjacent Posts. With NS Beams, make sure all NS
Beams are at the same tilt. The North ends of the NS Beams shall be correctly oriented in the
North-South direction, aligned properly in the East-West direction, and are to be at a consistent
level height or slope. Once this is complete, torque all previous joints to specifications.

4

1

2

5b

GC Max-Span™
I-Beam Ground

System
4 Up Poly

   Sheet #:

of 16 12

S502

1
3

11b
11a

1
3

4

11a

5a

11c

sv
CT PE



   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

PARTS LIST
Item No. Description Part No. Material

1  Post (I- Beam) GC461-W6 Galvanized Steel HDG
2a Post Bracket GC261B-F Galvanized Steel G90
2b Post Extender GC261B-F-35 Galvanized Steel G90
3 Base Bracket GC468R Galvanized Steel G90
4 NS Beam GC462LS Galvanized Steel G90

5a South Brace GC464-S Galvanized Steel G90
5b North Brace GC464-N Galvanized Steel G90
6 EW Purlin GC63/GC63N Galvanized Steel G90
7 Connector Rail GC903TWT-C Galvanized Steel G90
8 Purlin Support GC879 Galvanized Steel G90
9 Purlin Angle GC874 Galvanized Steel G90

10 Purlin Brace GC127 Galvanized Steel G90

11a 1/2-13 Serrated Flange Bolts
/ Hex Bolts

Magnicoat

11b 1/2" Washer HDG
11c 1/2-13 Serrated Flange Nuts Magnicoat
11d Beam Plate Washer GC128T Galvanized Steel G90

12a 3/8-16 Serrated Flange Bolts /
Hex Bolts

Magnicoat

12b 3/8" - 16 Super Flange Hex Nut HDG
12c 3/8-16 Serrated Flange Nuts Magnicoat
12d 3/8 -16 1" Superflange Hex Bolts Magnicoat
13a 1/4-20 Serrated Hex Bolts Magnicoat
13b 1/4" Washer Not Used Magnicoat
13c 1/4-20 Serrated Flange Nuts Magnicoat
13d 1/4-20 2-1/2" Hex bolt Magnicoat
13e 1/4-20 Button Head Cap Bolt Magnicoat
13f LockClamp T-Bolt GC1307A
14 Rubber O Ring
15 Mid Clip Assembly GC1307AM Stainless Steel

GC Max-Span System
Use only GameChange parts. Use of other parts to complete the installation as substitutes may void
the warranty.
Make sure the site ground can support the loading resulting from the GC MaxSpan Plus Ground
System and provided PV modules.
Comply with all relevant local, state and national safety laws and standards for both for mechanical and
electrical aspects of the solar PV array installation.
When encountering undocumented or unexpected obstacles requiring a work around, work arounds
should be brought to the attention of GameChange personnel prior to being attempted. If approved by
GameChange, work arounds shall be noted on project as-built drawings. Work arounds should be
completed in a manner that ensures that the remainder of the array is not affected.
GC MaxSpan Plus Ground System is to be installed in a clear area free of shading with a suggested 10
ft border surrounding array.
Reference Install Manual for installation. Not following install manual may result in voiding warranty.
Install the array facing due south (+/- 1 degree) unless otherwise noted on the layout drawings in this
drawing set or on project electrical drawings.

Preventative Maintenance
It is best practice to unbundle loads and install parts within several weeks of delivery so air is able to
flow around parts and thus prevent white rust formation. In order to maintain the longest life possible
for the protective zinc coating under the warranty, it is important to monitor for any severe white rust
developments prior to installation and if this condition appears to take proper maintenance steps to
remediate it.  See the Installation Manual for more information.
After Installation, owner must annually monitor for any surface rust that may occur over time. Identify
any rust areas, wire brush area to remove rust, and coat with 80% zinc rich paint, or equivalent field life
paint. This step is not required if rust is limited to edges which were cut during fabrication.
If panel mounting clips are used to install modules, clips must be checked annually and after storms
with severe winds to make sure their installation and torque settings remain correct.
Annual inspection must be done for mechanical movement due to any reason including thermal
expansion and contraction. Any mechanical movement must be rectified.
Torque settings must be checked for all hardware.
All Clips must be checked to make sure there is no gap between side of Clip and module.
See Installation Manual for additional details on preventative maintenance.
Proper preventative maintenance must be conducted or warranty may be voided.

Tool Required
String Line
30 ft Tape Measure
Inclinometer or level with digital degree read out
Impact Drill with interchangeable drivers
Wrenches and driver sockets, both standard and deep, in the following sizes:

o  7/16 inch (for 1/4-inch hex bolts and nuts),
o  9/16 inch (for 3/8-inch hex bolts and nuts),
o  3/4 inch (for 1/2-inch hex bolts and nuts)

Torque Wrench.  Torque bolts to appropriate torque range:
        1/4" hardware (stainless) = 6 - 7 ft-lbs (72 - 84 in-lbs) 
        1/4" hardware (magni) = 9 - 10 ft-lbs (108 - 120 in-lbs)

3/8" hardware = 29 - 31 ft-lbs
1/2" hardware = 95 - 100 ft-lbs

            1/2"-13 8" Bolts / 9" Rods = 110-115 ft-lbs
3M Scotchrap Tape 50: All-Weather Corrosion Protection Tape, black, 4" wide
Rags, Nylon Roller, Utility Knife, Garbage Bags

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

14) Then, noting the length of the connecting EW Purlin, attach the second EW Purlin to the third
and fourth NS Beams. For completing EW Purlin installation on tables, install the first (bottom)
EW Purlin up the NS Beam. Bolts may need to be tightened to hold the table square. Then install
the second, third, and fourth EW Purlins.

15)  EW Purlin ends shall be connected
together using 3/8" Superflange bolts
(serrated head or not),washers and
serrated flange nuts. Straight End
Purlins shall be installed on top of
Notched End Purlins. Torque to
specifications. When floating Purlins
connect to table Purlins, there will be a
nominal drop of 1/8 to 1/4 inch from one
EW Purlin to the next, which will result in
a small corresponding drop from one
panel to the next. This is normal, and is
not a shading or functional issue.

12b

12d 6

See Step 16 for Connection

6

GC Max-Span™
I-Beam Ground

System
4 Up Poly

12c12a

10

12) Attach Purlin Bracket to Southernmost
end of NS Beams using 3/8-inch bolts
on Purlin Bracket side and serrated
flange nuts on NS Beam side. Tighten
hardware to specification. Repeat for
all Purlin Bracket locations on NS Beam.

13) Attach EW Purlin to Purlin Bracket using two
3/8-inch bolts on EW Purlin side and serrated
flange nuts on Purlin Bracket side. Leave
finger tight. Attach one 3/8-inch bolts on EW
Purlin to the NS Beam and capture with 
serrated flange nut. Torque hardware to 
specifications.12a

10

6

12c

12a

   Sheet #:

of 16 13

S503

sv
CT PE



   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

PARTS LIST
Item No. Description Part No. Material

1  Post (I- Beam) GC461-W6 Galvanized Steel HDG
2a Post Bracket GC261B-F Galvanized Steel G90
2b Post Extender GC261B-F-35 Galvanized Steel G90
3 Base Bracket GC468R Galvanized Steel G90
4 NS Beam GC462LS Galvanized Steel G90

5a South Brace GC464-S Galvanized Steel G90
5b North Brace GC464-N Galvanized Steel G90
6 EW Purlin GC63/GC63N Galvanized Steel G90
7 Connector Rail GC903TWT-C Galvanized Steel G90
8 Purlin Support GC879 Galvanized Steel G90
9 Purlin Angle GC874 Galvanized Steel G90

10 Purlin Brace GC127 Galvanized Steel G90

11a 1/2-13 Serrated Flange Bolts
/ Hex Bolts

Magnicoat

11b 1/2" Washer HDG
11c 1/2-13 Serrated Flange Nuts Magnicoat
11d Beam Plate Washer GC128T Galvanized Steel G90

12a 3/8-16 Serrated Flange Bolts /
Hex Bolts

Magnicoat

12b 3/8" - 16 Super Flange Hex Nut HDG
12c 3/8-16 Serrated Flange Nuts Magnicoat
12d 3/8 -16 1" Superflange Hex Bolts Magnicoat
13a 1/4-20 Serrated Hex Bolts Magnicoat
13b 1/4" Washer Not Used Magnicoat
13c 1/4-20 Serrated Flange Nuts Magnicoat
13d 1/4-20 2-1/2" Hex bolt Magnicoat
13e 1/4-20 Button Head Cap Bolt Magnicoat
13f LockClamp T-Bolt GC1307A
14 Rubber O Ring
15 Mid Clip Assembly GC1307AM Stainless Steel

GC Max-Span System
Use only GameChange parts. Use of other parts to complete the installation as substitutes may void
the warranty.
Make sure the site ground can support the loading resulting from the GC MaxSpan Plus Ground
System and provided PV modules.
Comply with all relevant local, state and national safety laws and standards for both for mechanical and
electrical aspects of the solar PV array installation.
When encountering undocumented or unexpected obstacles requiring a work around, work arounds
should be brought to the attention of GameChange personnel prior to being attempted. If approved by
GameChange, work arounds shall be noted on project as-built drawings. Work arounds should be
completed in a manner that ensures that the remainder of the array is not affected.
GC MaxSpan Plus Ground System is to be installed in a clear area free of shading with a suggested 10
ft border surrounding array.
Reference Install Manual for installation. Not following install manual may result in voiding warranty.
Install the array facing due south (+/- 1 degree) unless otherwise noted on the layout drawings in this
drawing set or on project electrical drawings.

Preventative Maintenance
It is best practice to unbundle loads and install parts within several weeks of delivery so air is able to
flow around parts and thus prevent white rust formation. In order to maintain the longest life possible
for the protective zinc coating under the warranty, it is important to monitor for any severe white rust
developments prior to installation and if this condition appears to take proper maintenance steps to
remediate it.  See the Installation Manual for more information.
After Installation, owner must annually monitor for any surface rust that may occur over time. Identify
any rust areas, wire brush area to remove rust, and coat with 80% zinc rich paint, or equivalent field life
paint. This step is not required if rust is limited to edges which were cut during fabrication.
If panel mounting clips are used to install modules, clips must be checked annually and after storms
with severe winds to make sure their installation and torque settings remain correct.
Annual inspection must be done for mechanical movement due to any reason including thermal
expansion and contraction. Any mechanical movement must be rectified.
Torque settings must be checked for all hardware.
All Clips must be checked to make sure there is no gap between side of Clip and module.
See Installation Manual for additional details on preventative maintenance.
Proper preventative maintenance must be conducted or warranty may be voided.

Tool Required
String Line
30 ft Tape Measure
Inclinometer or level with digital degree read out
Impact Drill with interchangeable drivers
Wrenches and driver sockets, both standard and deep, in the following sizes:

o  7/16 inch (for 1/4-inch hex bolts and nuts),
o  9/16 inch (for 3/8-inch hex bolts and nuts),
o  3/4 inch (for 1/2-inch hex bolts and nuts)

Torque Wrench.  Torque bolts to appropriate torque range:
        1/4" hardware (stainless) = 6 - 7 ft-lbs (72 - 84 in-lbs) 
        1/4" hardware (magni) = 9 - 10 ft-lbs (108 - 120 in-lbs)

3/8" hardware = 29 - 31 ft-lbs
1/2" hardware = 95 - 100 ft-lbs

            1/2"-13 8" Bolts / 9" Rods = 110-115 ft-lbs
3M Scotchrap Tape 50: All-Weather Corrosion Protection Tape, black, 4" wide
Rags, Nylon Roller, Utility Knife, Garbage Bags

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

GC Max-Span™
I-Beam Ground

System
4 Up Poly

16)  Attach Connector Rails, Purlin Supports, and Purlin Angles as required. Use 3/8"
bolts and serrated flange nuts to attach. Make sure all hardware is tightened to
proper torque settings.This is a general guideline only, please refer to install manual
which must be followed for proper installation or warranty may be voided.
Panel Strips and Connector Rails are only required with spans with Purlin Angles.
See Purlin Angle Key on Sheet 3

B
A

12a

12c

9

 View:D

Purlin Angle to EW Purlin

 View:C

Purlin Support to Connector
Rail/EW Purlin

11a 11c

8
7a

Purlin Supports must be taut,
this is very important. Purlin
Supports must be torqued last.
Connector Rail are only
required with spans with Purlin
Angles.  See Purlin Angle Key
on Layout Drawings.

6
12a

12c

D

Connector Rail to EW Purlin
Install Connector Rail at mid-span
of Purlin. Use 3/8 serrated flange
bolts / hex bolts on top of EW
Purlin. Capture bolt with 3/8
serrated flange nut.

13a 13c

 View:B

9

8
7

6

C

B
A

D

C

   Sheet #:

of 16 14

S504

sv
CT PE



   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

GC Max-Span System
Use only GameChange parts. Use of other parts to complete the installation as substitutes may void
the warranty.
Make sure the site ground can support the loading resulting from the GC MaxSpan Plus Ground
System and provided PV modules.
Comply with all relevant local, state and national safety laws and standards for both for mechanical and
electrical aspects of the solar PV array installation.
When encountering undocumented or unexpected obstacles requiring a work around, work arounds
should be brought to the attention of GameChange personnel prior to being attempted. If approved by
GameChange, work arounds shall be noted on project as-built drawings. Work arounds should be
completed in a manner that ensures that the remainder of the array is not affected.
GC MaxSpan Plus Ground System is to be installed in a clear area free of shading with a suggested 10
ft border surrounding array.
Reference Install Manual for installation. Not following install manual may result in voiding warranty.
Install the array facing due south (+/- 1 degree) unless otherwise noted on the layout drawings in this
drawing set or on project electrical drawings.

Preventative Maintenance
It is best practice to unbundle loads and install parts within several weeks of delivery so air is able to
flow around parts and thus prevent white rust formation. In order to maintain the longest life possible
for the protective zinc coating under the warranty, it is important to monitor for any severe white rust
developments prior to installation and if this condition appears to take proper maintenance steps to
remediate it.  See the Installation Manual for more information.
After Installation, owner must annually monitor for any surface rust that may occur over time. Identify
any rust areas, wire brush area to remove rust, and coat with 80% zinc rich paint, or equivalent field life
paint. This step is not required if rust is limited to edges which were cut during fabrication.
If panel mounting clips are used to install modules, clips must be checked annually and after storms
with severe winds to make sure their installation and torque settings remain correct.
Annual inspection must be done for mechanical movement due to any reason including thermal
expansion and contraction. Any mechanical movement must be rectified.
Torque settings must be checked for all hardware.
All Clips must be checked to make sure there is no gap between side of Clip and module.
See Installation Manual for additional details on preventative maintenance.
Proper preventative maintenance must be conducted or warranty may be voided.

Tool Required
String Line
30 ft Tape Measure
Inclinometer or level with digital degree read out
Impact Drill with interchangeable drivers
Wrenches and driver sockets, both standard and deep, in the following sizes:

o  7/16 inch (for 1/4-inch hex bolts and nuts),
o  9/16 inch (for 3/8-inch hex bolts and nuts),
o  3/4 inch (for 1/2-inch hex bolts and nuts)

Torque Wrench.  Torque bolts to appropriate torque range:
        1/4" hardware (stainless) = 6 - 7 ft-lbs (72 - 84 in-lbs) 
        1/4" hardware (magni) = 9 - 10 ft-lbs (108 - 120 in-lbs)

3/8" hardware = 29 - 31 ft-lbs
1/2" hardware = 95 - 100 ft-lbs

            1/2"-13 8" Bolts / 9" Rods = 110-115 ft-lbs
3M Scotchrap Tape 50: All-Weather Corrosion Protection Tape, black, 4" wide
Rags, Nylon Roller, Utility Knife, Garbage Bags

PARTS LIST
Item No. Description Part No. Material

1  Post (I- Beam) GC461-W6 Galvanized Steel HDG
2a Post Bracket GC261B-F Galvanized Steel G90
2b Post Extender GC261B-F-35 Galvanized Steel G90
3 Base Bracket GC468R Galvanized Steel G90
4 NS Beam GC462LS Galvanized Steel G90

5a South Brace GC464-S Galvanized Steel G90
5b North Brace GC464-N Galvanized Steel G90
6 EW Purlin GC63/GC63N Galvanized Steel G90
7 Connector Rail GC903TWT-C Galvanized Steel G90
8 Purlin Support GC879 Galvanized Steel G90
9 Purlin Angle GC874 Galvanized Steel G90

10 Purlin Brace GC127 Galvanized Steel G90

11a 1/2-13 Serrated Flange Bolts
/ Hex Bolts

Magnicoat

11b 1/2" Washer HDG
11c 1/2-13 Serrated Flange Nuts Magnicoat
11d Beam Plate Washer GC128T Galvanized Steel G90

12a 3/8-16 Serrated Flange Bolts /
Hex Bolts

Magnicoat

12b 3/8" - 16 Super Flange Hex Nut HDG
12c 3/8-16 Serrated Flange Nuts Magnicoat
12d 3/8 -16 1" Superflange Hex Bolts Magnicoat
13a 1/4-20 Serrated Hex Bolts Magnicoat
13b 1/4" Washer Not Used Magnicoat
13c 1/4-20 Serrated Flange Nuts Magnicoat
13d 1/4-20 2-1/2" Hex bolt Magnicoat
13e 1/4-20 Button Head Cap Bolt Magnicoat
13f LockClamp T-Bolt GC1307A
14 Rubber O Ring
15 Mid Clip Assembly GC1307AM Stainless Steel

17)  After racking and bracing are installed, and before panels are put on, a vinyl PVC
layer will be applied to the purlins.Only the bottom 4 purlins will be treated as shown in
the below figure.

Run a rag over the surfaces to be coated to remove visible oil, grease, dirt or other contaminants.  Ensure the surfaces to
be coated are dry prior to installing tape.  Do not apply tape when raining.  Apply corrosion tape to surfaces to be coated:
 Apply tape to top flange surfaces which includes the top flat surface and the return to the south (shown in right image
below).

Care shall be taken to align tape with purlin top flange. If tape overruns panel flange to the south, cut off excess material.
If tape overruns panel flange to the north, wrap tape around purlin top flange and connect excess tape to north face of
purlin web.  Use a nylon roller to remove any air bubbles trapped below tape.

In locations where tape overruns bolt holes in the top flange of the purlin cut a slit in the tape with a utility knife to allow
bolts to pass through the tape and purlin.

Care shall be taken to not tear the tape when installing solar panels.  Install panels using a 2 man lift and do not slid
panels along purlins.

18) The tape needs to be applied to the top flange of the purlin.  This includes the top flat
surface and the return to the south. The "Surfaces to be coated" are shown in red on
the images below

GC Max-Span™
I-Beam Ground

System
4 Up Poly

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

   Sheet #:

of 16 15

S505

sv
CT PE



   Customer:
Verogy

   Project:
 East Windsor

   Location:
341 East Rd, East Windsor, CT 06016

   Project #:
----

  Rev:   By:   Date:   Description:

  1
  2
  3

  HD
  GF
  SVP
  

  03-09-2021
  03-23-2021
  05-14-2021

  Original Layout
  Updated Assembly
  IFP

GC Max-Span System
Use only GameChange parts. Use of other parts to complete the installation as substitutes may void
the warranty.
Make sure the site ground can support the loading resulting from the GC MaxSpan Plus Ground
System and provided PV modules.
Comply with all relevant local, state and national safety laws and standards for both for mechanical and
electrical aspects of the solar PV array installation.
When encountering undocumented or unexpected obstacles requiring a work around, work arounds
should be brought to the attention of GameChange personnel prior to being attempted. If approved by
GameChange, work arounds shall be noted on project as-built drawings. Work arounds should be
completed in a manner that ensures that the remainder of the array is not affected.
GC MaxSpan Plus Ground System is to be installed in a clear area free of shading with a suggested 10
ft border surrounding array.
Reference Install Manual for installation. Not following install manual may result in voiding warranty.
Install the array facing due south (+/- 1 degree) unless otherwise noted on the layout drawings in this
drawing set or on project electrical drawings.

Preventative Maintenance
It is best practice to unbundle loads and install parts within several weeks of delivery so air is able to
flow around parts and thus prevent white rust formation. In order to maintain the longest life possible
for the protective zinc coating under the warranty, it is important to monitor for any severe white rust
developments prior to installation and if this condition appears to take proper maintenance steps to
remediate it.  See the Installation Manual for more information.
After Installation, owner must annually monitor for any surface rust that may occur over time. Identify
any rust areas, wire brush area to remove rust, and coat with 80% zinc rich paint, or equivalent field life
paint. This step is not required if rust is limited to edges which were cut during fabrication.
If panel mounting clips are used to install modules, clips must be checked annually and after storms
with severe winds to make sure their installation and torque settings remain correct.
Annual inspection must be done for mechanical movement due to any reason including thermal
expansion and contraction. Any mechanical movement must be rectified.
Torque settings must be checked for all hardware.
All Clips must be checked to make sure there is no gap between side of Clip and module.
See Installation Manual for additional details on preventative maintenance.
Proper preventative maintenance must be conducted or warranty may be voided.

Tool Required
String Line
30 ft Tape Measure
Inclinometer or level with digital degree read out
Impact Drill with interchangeable drivers
Wrenches and driver sockets, both standard and deep, in the following sizes:

o  7/16 inch (for 1/4-inch hex bolts and nuts),
o  9/16 inch (for 3/8-inch hex bolts and nuts),
o  3/4 inch (for 1/2-inch hex bolts and nuts)

Torque Wrench.  Torque bolts to appropriate torque range:
        1/4" hardware (stainless) = 6 - 7 ft-lbs (72 - 84 in-lbs) 
        1/4" hardware (magni) = 9 - 10 ft-lbs (108 - 120 in-lbs)

3/8" hardware = 29 - 31 ft-lbs
1/2" hardware = 95 - 100 ft-lbs

            1/2"-13 8" Bolts / 9" Rods = 110-115 ft-lbs
3M Scotchrap Tape 50: All-Weather Corrosion Protection Tape, black, 4" wide
Rags, Nylon Roller, Utility Knife, Garbage Bags

PARTS LIST
Item No. Description Part No. Material

1  Post (I- Beam) GC461-W6 Galvanized Steel HDG
2a Post Bracket GC261B-F Galvanized Steel G90
2b Post Extender GC261B-F-35 Galvanized Steel G90
3 Base Bracket GC468R Galvanized Steel G90
4 NS Beam GC462LS Galvanized Steel G90

5a South Brace GC464-S Galvanized Steel G90
5b North Brace GC464-N Galvanized Steel G90
6 EW Purlin GC63/GC63N Galvanized Steel G90
7 Connector Rail GC903TWT-C Galvanized Steel G90
8 Purlin Support GC879 Galvanized Steel G90
9 Purlin Angle GC874 Galvanized Steel G90

10 Purlin Brace GC127 Galvanized Steel G90

11a 1/2-13 Serrated Flange Bolts
/ Hex Bolts

Magnicoat

11b 1/2" Washer HDG
11c 1/2-13 Serrated Flange Nuts Magnicoat
11d Beam Plate Washer GC128T Galvanized Steel G90

12a 3/8-16 Serrated Flange Bolts /
Hex Bolts

Magnicoat

12b 3/8" - 16 Super Flange Hex Nut HDG
12c 3/8-16 Serrated Flange Nuts Magnicoat
12d 3/8 -16 1" Superflange Hex Bolts Magnicoat
13a 1/4-20 Serrated Hex Bolts Magnicoat
13b 1/4" Washer Not Used Magnicoat
13c 1/4-20 Serrated Flange Nuts Magnicoat
13d 1/4-20 2-1/2" Hex bolt Magnicoat
13e 1/4-20 Button Head Cap Bolt Magnicoat
13f LockClamp T-Bolt GC1307A
14 Rubber O Ring
15 Mid Clip Assembly GC1307AM Stainless Steel

19) For bottom mount attachment of panels GameChange typically provides slotted
panel mounting holes to enable panel adjustment in case purlins are not perfectly
aligned due to rolling or otherwise uneven ground situations. It is the customer's
responsibility to make sure to follow panel spacing guidelines if any are given by
panel vendor in their specification sheet or elsewhere, otherwise panel warranty
could be voided. In all cases make sure panel spacing is the greater of 1/8 inch
or the minimum called out by the panel vendor. This will allow for thermal 
expansion of panels. GameChange systems typically enable 1/2 inch panel 
spacing if aligned properly.  Spacing between panels can be set by placing a
temporary spacer such as bolt shaft or plywood of same thickness as required for
panel spacing between panels while they are being installed. This spacer should
be removed after panel installation is complete.

20)  Attach southern edge of southernmost panel directly to the top flange of the EW
Purlin. Insert 1/4-20-3/4 hex bolt through washer and mounting hole in the back of the
panel, then through the EW purlin. Attached with a flange nut on bottom end of purlin.
Tighten bolt to specification.

13a

23)  The modules, EW Purlins and NS Beams are all bonded together, left to right, so that each
row form one single structure. To achieve grounding of the system, GameChange
recommends installing Cooper, Burndy, or Eaton UL approved grounding lug(s) with 1/4-inch
bolts as in accordance with NEC Article 690 to the Post below the last EW Purlin which has
panels attached to it which are to be bonded, using 8 gauge copper wire or larger.

The Purlin to Purlin bonded connection is rated for up to 30 amps.  Therefore, conductors with
expected currents greater than 30 amps may not be installed on the racking system without
installing additional grounding measures.

The entire system needs to be grounded from a single point to an appropriate grounding
source as per local jurisdiction requirements.

21)  Place panel north of previous mounted panel. Attach Mid Clip to edge of mounted panel.
Insert 1/4-20-2 1/2 hex bolt through the Mid Clip, then through the EW Purlin. Attached
with a flange nut on bottom end of EW Purlin. Tighten bolt from topside to specification.
Repeat for all mid panels. Repeat Step 12 for northern panel.

15

13f

13c

22) Continue to move across the EW 
Purlin, following steps 12 and 13 for
each column of panels.

Check the install manual for the
module you are installing to make
sure that the panel mounting
hardware and installation
methodology recommended by
GameChange mentioned below is
acceptable. Otherwise you may
risk voiding the warranty for your
modules. It is also recommended
to check that the panels are listed
per UL 1703.

13b

13c

GC Max-Span™
I-Beam Ground

System
4 Up Poly

Array Information
PV Modules Racking

Manufacturer 1.Trina Solar
2.Risen

Gamechange Solar

Model 1.TSM-DEG15MC.20(II)
2.RSM144-6-380BMDG

30-Deg MaxSpan
I-Beam

Dimensions 1. 79.69" x 39.45" x 1.18"
2. 79.37" x 39.29" x 0.98"

Weight 1. 57.3 lbs
2. 57.3 lbs

Quantity 1. 15992
2. 3356 Posts: 1772

Ground
Clearance 36"

15992 modules at 395 W
3356 modules at 380 W

7.592 MW

AERIAL VIEW

Engineer's Seal:Site Key Plan:

152 West 57th St, Fl 44, New York, NY 10019
Tel:212-388-5160

www.gamechangesolar.com

   Sheet #:

of 16 16

S506

14

sv
CT PE


	Verogy - East Windsor - 05142021 - IFP - P10.pdf
	Sheets and Views
	Verogy - East Windsor - 05142021 - IFP-10-Detail1- MaxSpanI Template S500



		2021-05-14T12:56:09-0400
	Scott Van Pelt




